JGHGE

SR A A A FTRTE| 43
L1 L2 M
1 |MR-SX-08196.2M7| SEZ/LoAf 8—-196-M7 196 | 177.5 | M7x1. 25 QPQ
2 |MR-SX-08200. 2M7|  SEZ.OofF 8-200-M7 | 200 | 181.5 | M7x1. 25 QPQ
3 |MR-SX-08201. 2M7| SE.CofF 8-201-M7 201 | 182.5 | M7x1. 25 QPQ
4 |IMR-SX-08145. 2M7|  SEZ.OFF 8-145-M7 145 | 126.5 | M7x1. 25 QPQ
5 |[MR-SX-08156. 2M7| SZOaFF 8—-156-M7 156 | 137.5 | M7x1. 25 QPQ
6 |MR-SX-08159. 2M7|  SZOoHF 8-159-M7 159 | 140.5 | M7x1. 25 QPQ
7 |MR-SX-08180.2M7| SZOaFF 8-180-M7 180 | 161.5 | M7x1. 25 QPQ
8 |MR-SX-08214.2M7| SZOFF 8-214-M7 214 | 195.5 | M7x1. 25 QPQ
9 |MR-SX-08149.2M7| SZOMFF  |8-148.5-M7| 148.5 | 130 | M7x1.25 QPQ
10 |[MR-SX-08256. 2M7|  SZ.OofF 8-256-M7 256 | 237.5 | M7x1. 25 QPQ
11 [MR-SX-08260. 2M7|  SZ.OofF 8-260-M7 | 260 | 241.5 | M7x1. 25 QPQ
12 |[MR-SX-08217. 2M7|  SZ.OofF 8=217-M7 | 217 | 198.5 | M7x1. 25 QPQ %%%%
13 |MR-SX-08210. 2M7|  SZ.OofF 8-210-M7 | 210 | 191.5 | M7x1. 25 QPQ S32

Fric

0
D5 -005 |©|2 0.02|A

-0.01
@8 -0.03 /Q/ ) 0.015

HR

S, {3E fARO. 5

0.3 X 45°

_IM7x1.25

10

L2*0.1

8.5

PORZR

1o BALER, RmDuEckits, oFE—3 LRR, %

2. RMIASFRE WA PEMESELQPQ, M EEHY, 5000 F;

1x4

R BT 2 T R AN /NT0. 02mm,  QPQAE 2 5 B AN T-0. 03mm;
3. RIFAZE: GB/T1084-m.,

A ERXHS
'’ it £33
w &

I Zz

£ ¥

PREL

B

SE

2024.6.29

45

MRAFRIE

A

X1 m

BEE A

I ARSEENRAERAT

O

MR-SX-08XXX.2M7



	图纸1
	工程图视图3


